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1. How is small size measured?
A- under 1 million people and less man 2 000 sq- kilometres 

B- under 10 million people and less than 20 000 sq. kilometres 

C- under 20 million people and less than 250 000 sq. kilometres 

D- under 2 million people and less than 25 000 sq. kilometres

2. Which does not apply:

Spatial Analysis:

A. suggests that there are important differences between Antigua and United States based on size 

B. suggests that geography conditions the nature of a country's politics

C. suggests that small size makes economies uncompetitive 

D. regards place and space as fixed

3. What are the two general problems of small states? 

A. topography and geology

B. viability and vulnerability 

C. dependence and limited industrialization 

D. physiography and climate

4. Which does not apply?

A. Small polities have a narrow range of public institutions

B. Small polities have more centralized governments

C. Small polities are more corrupt

D. Political processes within small polities are more informal

5. Which does not apply?

A. Small states have limited diplomatic services 

B. Small states acting collectively have the power to influence the international environment

C. Small states have limited military and defense capabilities 

D. Small states are not members of international governance organisations

6. Which does not apply?

A. small economies are mainly dependent on foreign corporations

B. small economies are less industrialised than larger economies 

C. small economies are price-makers

D. small economies have a greater dependence on foreign trade

7. Which does not apply?

The Small Island Developing States of the Caribbean:

A. have sustainable natural environments

B. have fragile ecosystems

C. are highly susceptible to natural hazards

D. experience environmental problems like wildlife destruction

8. Which of the following pair was not a part of the fortunate historical accidents highlighted in the Barbados model? 

A. location and leadership 

B. political tradition and culture 

C. physiography and leadership 

D. crown colony government and technological innovation

9. Which does not apply:The Caribbean's political history can be best understood by:

A. nature of colonisation 

B. labour needs in Britain 

C. Governance of the colony 

D.locationofterritory

10. Which of the following least describes the historical experiences of Barbados and Jamaica respectively?
A. English vs. African culture

B. large Carib population vs. large Arawak population

C. class accommodation vs. rebellion

D. continuous development vs. interrupted development

11. Which comparison does not apply to Jamaica and Barbados respectively?
A. early vs. late colonization 

B. crown colony vs. continuous parliament 

C. indentureship vs. non indentureship 

D. absentee culture vs. settler culture

12. Which is most correct:

The Barbados model is important because it shows that?

A. current economic management is critical to development

B. history plays a role in understanding the present

C. history is of no importance because it is accidental

D. political leaders are the most important factors in development

13. Barbados' historical experience was most critical for making it easier to:

A. accomplish equality

B. accomplish consensus 

C. establish political parties 

D. achieve racial integration

14. Which does not apply?

The impact of slavery and the plantation depended on:

A. length of slavery in the colony

B. whether one was a urban or rural slave

C. the level of nationalism before emancipation

D. whether one was African or Caribbean bom

15. With whom would you associate social stratification? 

A. Lloyd Braithwaite   B. Edward Brathwaite C. Barry Chevannes            D. Rex Nettleford

16. Which of the following does this definition fit?

Composed a/varying ethnic groups sharing the same physical space but are kept at a social distance by lawSy customs and social pressure.

A. class society         B. Creole society C. plural society         D.capitalist society

17. Which of the following was not included in Carl Stone's description of the modem social order? A. the growth of the black professional B. greater black self esteem C. greater demand for opportunities D. preoccupation with social status and recognition

18. Which of the following is least supportive of nation building? A. pluralism.            B. creolization C. social stratification   D. social dualism

19. Which of the following does not apply in Akbar's identification of the psychological legacies of slavery? A. low black self esteem B. suspicion of black leaders C. culture of consumerism D. anti-white racism

20. Which does not match?

A. Grantley Adams-Barbados

B. Eric Williams - Trinidad and Tobago

C. Eric Gairy - Grenada

D. Robert Bradshaw-Guyana

21. Which pair of leaders were working class leaders? A. Gairy and Bradshaw B. Manley and Adams C. Bustamante and Williams D. Jagan and Williams

22. What were the main conditions, that produced founding nationalist leaders?

A. labour riots and education  B. poverty and nationalism C. career and anti-colonialism D. political parties and trade unions

23. The working class leaders had two particular characteristics:

A. nationalism and working class ideology

B. statesmanship and education

C. charisma and authoritarianism

D. organizational experience and emotional appeal

24. With whom would you associate the book 'The Hero and the Crowd'? A. Eric Williams       B. Charles Moskos C. Archie Singham     D. C.L.R. James

25. WTiat were the main contributions of the founding fathers? Select the one that does not apply. A. they formed the first and existing political parties B. they formed the first and existing trade unions C. they fought for socialism D. they negotiated political independence

26. Which is not true?

The Anglo-Caribbean is different from the Latin-Caribbean because it has:

A. multi-party systems 

B. FPTP electoral systems 

C. secular political cultures

D. strong civil society

27. With one is incorrectly paired?

A. Anglo-Caribbean. - British pattern of parliamentarism 

B. Cuba - revolutionary socialist democracy off Eastern European communism 

C. Dominican Republic - pattern of presidentialism consistent with France 

D. Surmame - pattern of presidentialism consistent with Netherlands

28. What factors best account for the more democratic political tradition of the Anglo Caribbean compared to mat of the Latin Caribbean? A. Length of experience with representative government B. British influence to transfer parliamentary systems C. American influence D. Democratic values of middle class leaders

29. Which statement is false:

A. The non democratic culture of colonial masters explain the limited experience of the Latin-Caribbean with democracy

B. The rise of dictators explain the limited experience of the Latin-Caribbean with democracy

C. The Latin Caribbean fought wars of independence

D. The Latin-Caribbean- did not become gradually more democratic after World WarIL

30.  Which does not apply?

The political style of the Anglo-Caribbean compared to the Latin-Caribbean was marked by:-A. peaceful settlement of disputes B. negotiating and bargaining C. compromise and consensus D. military leadership
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